Haircolor Correction Unit Test
Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.
____
1.
Mixing equal amounts of a secondary color and its neighboring primary color on the color wheel results in a:

	a.
	secondary color
	c.
	tertiary color

	b.
	complementary color
	d.
	warm color


____
2.
On the color wheel, a primary and secondary color opposite each other are:

	a.
	warm colors
	c.
	cool colors

	b.
	tertiary colors
	d.
	complementary colors


____
3.
The colors known as secondary colors are violet, orange, and:

	a.
	blue
	c.
	green

	b.
	white
	d.
	yellow


____
4.
Of the different hair textures, fine hair:

	a.
	may process lighter
	c.
	is resistant to lightening

	b.
	takes color faster
	d.
	has an average response to color


____
5.
During haircoloring, coarse hair:

	a.
	has tightly grouped melanin granules

	b.
	has an average response to color

	c.
	takes color more quickly

	d.
	may take longer to process


____
6.
Resistant hair that requires more time to process usually has:

	a.
	high porosity
	c.
	low porosity

	b.
	average porosity
	d.
	a fine texture


____
7.
Contributing pigment is exposed when you:

	a.
	process with permanent haircolor
	c.
	glaze the hair

	b.
	use demi-permanent color
	d.
	lighten natural hair color


____
8.
The black and brown color in hair comes from:

	a.
	eumelanin
	c.
	mixed melanin

	b.
	dark melanin
	d.
	pheomelanin


____
9.
The predominant tonality of an existing color is called its:

	a.
	contributing pigment
	c.
	intensity

	b.
	base color
	d.
	level


____
10.
A color's warmth or coolness is called:

	a.
	tone
	c.
	level

	b.
	depth
	d.
	intensity


____
11.
Bleaching or decolorizing is also called:

	a.
	lightening
	c.
	coloring

	b.
	stripping
	d.
	low-lightening


____
12.
The type of haircolor that has only a coating action on the hair is:

	a.
	temporary haircolor
	c.
	permanent haircolor

	b.
	Sem-ipermanent haircolor
	d.
	Demi-permanent haircolor


____
13.
Demi-permanent haircolors, which darken the natural hair color, deposit color but do not:

	a.
	penetrate the hair shaft
	c.
	cover pigmented hair

	b.
	require a patch test
	d.
	lift color


____
14.
In recent years, previously colored hair has been treated with permanent color at the base of the hair and ____ on the midshaft and ends.

	a.
	Semi-permanent color
	c.
	Demi-permanent color

	b.
	temporary color
	d.
	natural color


____
15.
A capacity to lift natural color from the hair is a feature of:

	a.
	permanent
	c.
	Demi-permanent

	b.
	temporary
	d.
	Semi-permanent


____
16.
The tint molecules of permanent haircolors cannot be shampooed out because they are trapped in the:

	a.
	follicle
	c.
	cortex

	b.
	cuticle
	d.
	medulla


____
17.
A developer supplies ____ to develop color molecules and create a change in hair color.

	a.
	oxygen
	c.
	hydrogen

	b.
	sulfur
	d.
	nitrogen


____
18.
The measure of the potential oxidation of varying strengths of hydrogen peroxide is:

	a.
	percentage
	c.
	intensity

	b.
	level
	d.
	volume


____
19.
In a one-step color service with high-lift colors, the hydrogen peroxide is:

	a.
	20 volume
	c.
	30 volume

	b.
	40 volume
	d.
	10 volume


____
20.
Dispersing, dissolving, and decolorizing melanin, the natural hair pigment, is the function of:

	a.
	lighteners
	c.
	glazes

	b.
	temporary haircolor
	d.
	toners


____
21.
When hydrogen peroxide is added to a lightener formula, it begins to:

	a.
	add hydrogen
	c.
	darken the melanin

	b.
	release oxygen
	d.
	reduce oxygen


____
22.
A product used to recondition damaged, overly porous hair, and equalize porosity so that the hair accepts color is called: 

	a.
	toner
	c.
	color remover

	b.
	conditioner filler
	d.
	activator


____
23.
When neutralizing unwanted golden tones after a highlight service, use a ____ base color. 

	a.
	blue/violet 
	c.
	orange 

	b.
	yellow
	d.
	green 


____
24.
When formulating haircolor, keep in mind it is helpful to add color in to _____/

	a.
	neutralize the undertone
	c.
	temporarily mask the undertone

	b.
	highlight the undertone
	d.
	finish lifting the color


____
25.
When refreshing red haircolor on the ends, it is now recommended to use: 

	a.
	permanent haircolor
	c.
	toner

	b.
	Demi-permanent haircolor
	d.
	temporary haircolor


____
26.
To cover gray hair completely, it is recommended to use what type of haircolor?

	a.
	permanent color
	c.
	temporary color

	b.
	Demi-permanent color
	d.
	metallic colors


____
27.
After lightening the hair in a double-process application, you apply:

	a.
	the depositing color/toner
	c.
	color remover

	b.
	bleach
	d.
	a pre-softener


____
28.
Gray hair is usually first noticed in the _____ area. 

	a.
	hairline
	c.
	midshaft

	b.
	nape area 
	d.
	roots


____
29.
Activators may be added to cream lighteners to:

	a.
	make them less runny
	c.
	increase their lifting power

	b.
	make them creamier
	d.
	make them milder


____
30.
Lightener retouch services should not be done with:

	a.
	boosters
	c.
	powder lightener

	b.
	activators
	d.
	cream lightener


____
31.
Lightening the hair takes longer:

	a.
	the more melanin it has

	b.
	the less porous it is

	c.
	the less red there is in the natural color

	d.
	the stronger the lightener is


____
32.
The cuticle layers may be removed and cortical bonds destroyed if lightening chemicals are used in conjunction with:

	a.
	protinators
	c.
	light

	b.
	activators
	d.
	heat


____
33.
Unwanted orange tones can be corrected by using a haircolor with a:

	a.
	green base
	c.
	violet base

	b.
	yellow base
	d.
	blue base


____
34.
Specialized preparations called fillers are used to equalize porosity and:

	a.
	remove color buildup
	c.
	diffuse melanin

	b.
	open the cuticle
	d.
	deposit a base color


____
35.
Use of a filler may be the key to a successful: 
	a.
	Pre-softening
	c.
	soap cap

	b.
	tint removal
	d.
	tint back to natural


____
36.
When formulating permanent color for gray hair, your color choice should:

	a.
	include the A series for good coverage 
	c.
	include the N series for good coverage 

	b.
	include the V series for good coverage 
	d.
	include the G series for good coverage


____
37.
For satisfactory results when you formulate a color filler, remember to:

	a.
	replace the hair's missing secondary color

	b.
	reduce the additional secondary color

	c.
	replace the hair's missing primary color

	d.
	reduce the additional primary color


____
38.
For a client with excessive brassiness in her tinted hair, the best solution is to:

	a.
	neutralize with the complementary color

	b.
	cut off the hair with the brassy tones

	c.
	schedule more frequent retouching services

	d.
	retouch with permanent color


____
39.
Double-process applications include:

	a.
	conditioning and toning

	b.
	shampooing and applying temporary color

	c.
	shampooing and applying demi-permanent color

	d.
	Pre-softening and tinting


____
40.
If the hair has a green cast, what product would best help remove the minerals or chlorine?

	a.
	haircolor remover
	c.
	filler

	b.
	lightener
	d.
	Pre-softner


____
41.
Remember when correcting hair with too much red tones, the formula should include: 

	a.
	gold tones 
	c.
	ash tones 

	b.
	brown tones 
	d.
	blue tones 


____
42.
The application that includes raising the cuticle of gray hair to allow for better color penetration is called:

	a.
	soap cap 
	c.
	color fillers 

	b.
	conditioning fillers 
	d.
	Pre-softening 


____
43.
Gray hair can have a yellow cast from all of the following: 

	a.
	gold tones left from hair 
	c.
	medications, smoking, and sun 

	b.
	improper pre-softening 
	d.
	smoking, sun and family history 


____
44.
For clients within the 100% gray hair range, which range is considered most flattering? 

	a.
	brunettes 
	c.
	reds 

	b.
	blonds
	d.
	golds


____
45.
Hair that has a _____ appearance is considered to be dangerously damaged and service should be declined. 

	a.
	honey blonde
	c.
	brassy gold 

	b.
	bleach blonde
	d.
	gun-metal gray 


